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Převeď na zadané jednotky:
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Řešení:
2 625 m

262 500 cm

2 km 625 000 mm

26 250 dm

14 103 m 802 mm

1 410 380 cm 2 mm

14 km 103 802 mm

141 038 dm 2 mm

128 352 000 mm

12 835 200 cm

128 km 352 m

1 283 520 dm

4 200 000 mm

420 000 cm

4 km 200 m

42 000 dm

12 405 108 000 mm

1 240 510 800 cm

12 405 km 108 m

124 051 080 dm

12 000 m

1 200 000 cm

120 000 dm

12 000 000 mm

5 001 250 mm

5 001 m 25 cm

5 km 125 cm

Seřaď vzestupně:

1 cm

1 m

10 cm
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100 mm
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10 dm
100 m
1 dm
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100 000 mm
1000 cm

1 km

10 mm

1000 mm

Seřaď vzestupně - řešení:

10 mm, 1 cm
10 cm, 100 mm, 1 dm

10 dm, 100 cm, 1000 mm, 1m
1000 cm, 10 m
100 m, 100 000 mm
1 km, 1000 m
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